GENERAL NOTES:
1. THIS PRODUCT HAS BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NOT
TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S).
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED
! TO TRANSFER WIND LOADS TO THE STRUCTURE.
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS &
SHALL NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR
EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED &
PROPOSED FOR WATER, AR, IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN
CONFORMANCE WITH 2018 IBC REFERENCED STANDARDS ASTM E330, E283, E331, £1886 &
E1996 & AAMA 1304 FOR LARGE & SMALL MISSILE IMPACT PRODUCTS. ALL TESTING OF
| THIS PRODUCT TO STANDARDS LESS CURRENT THAN THOSE SPECIFIED IN THE 2018 IBC HAS
BEEN DETERMINED EQUIVALENT TO THE MORE CURRENT VERSIONS OF THOSE STANDARDS
REFERENCED IN THE 2018 IBC.
5. THIS PRODUCT HAS BEEN DESIGNED IN ACCORDANCE WITH AND MEETS THE
REQUIREMENTS OF THE 2018 INTERNATIONAL BUILDING CODE (IBC) & IS BOTH LARGE &
SMALL MISSILE IMPACT RATED.
6. WHEN GLAZED FOR SMALL MISSILE IMPACT, THIS PRODUCT MAY NOT BE INSTALLED AT
ELEVATIONS BELOW 30 FT. ABOVE GRADE OR AT ANY CODE DESIGNATED LARGE MISSILE
IMPACT LOCATION WITHOUT AN APPROVED SHUTTER.
7. WHEN LARGE MISSILE IMPACT GLAZED, IMPACT SHUTTERS ARE NOT REQUIRED WITH THIS
PRODUCT.
8. ALL ANCHORS SECURING PRODUCT FRAMES TO PRESSURE "TREATED BUCKS OR WOOD
FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING
CHEMICALS IN THE WOOD.
9. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCHY.
FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE INTERNATIONAL BUILDING CODE, A
DIRECTIONALITY FACTOR OF KD = 0.85 MAY BE APPLIED PER THE ASCE-7 STANDARD. :
10. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT
WITH OTHER DISSIMILAR MATERIALS SHALL BE SEPARATED OR COATED AS REQUIRED TO AVOID
CORROSION OF EITHER MATERIAL.
11. TO THE BEST OF OUR KNOWLEDGE, THE PRODUCT SHOWN HEREIN ARE QUALITY
ASSURED BY AN APPROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN ACCORDANCE
WITH APPLICABLE STANDARDS. THESE DRAWINGS SHOW ALL APPLICABLE ELEVATION,
COMBINATION, INSTALLATION & COMPARATIVE ANALYSIS CONDITIONS AS DETERMINED THROUGH
TESTING & ENGINEERING RATIONAL ANALYSIS. PRODUCT ASSEMBLY SHALL BE IN
ACCORDANCE WITH THESE DRAWINGS, THE MANUFACTURER'S QUALITY ASSURANCE
SPECIFICATIONS & TESTING REPORTS.
12. CERTIFICATION OF THIS PRODUCT SHALL BE CONSIDERED VOID IF THEY ARE INSTALLED
WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT OR IF
THEY ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH
INSTALLATIONS OF THIS TYPE OF PRODUCT.

.

CORNER_CONSTRUCTION:
FRAME: MEMBERS ARE MITER CUT, BUTTED & JOINED VIA TWO(2) SHEAR BLOCKS

(PART #S 11 & 12). EACH SHEAR BLOCK IS FASTENED TO THE THE FRAME MEMBER SEE CORNER-—/
CONSTRUCTION
DESCRIPTIONS

ON THIS SHEET

WITH TWO(2) 5MM X 20MM SCREWS (2 PER BLOCK; 4 PER CORNER). CORNERS,
ACCESS HOLES AND SCREW HEADS ARE SEALED WITH TREMCO 600 SILICONE SEALANT
& A 81/2 X 2" BACKER ROD BETWEEN THE THERMAL BREAK.

RAIL TO STILE: MEMBERS ARE MITER CUT, BUTTED & JOINED VIA A SHEAR BLOCK
(PART #13). THE SHEAR BLOCK IS SNAP FIT INTO THE STILES & RAILS. CORNERS
AND ACCESS HOLES ARE SEALED WITH TREMCO 600 SILICONE SEALANT.

EVALUATION OF THIS PRODUCT IS BASED ON APPLICABLE STANDARDS AND/OR
INFORMATION & RESULTS FROM APPLICABLE TEST REPORTS. THE BUILDING CODE
VERSION CONSIDERED WITH THIS EVALUATION WAS THAT IN FORCE AT THE TIME OF
THE EVALUATION. IN THE EVENT OF CODE VERSION CHANGES/UPDATES OR IN THE
EVENT THAT NEW OR ADDITIONAL TESTING IS COMPLETED-ON THIS PRODUCT, PRIOR TO
STATING CODE COMPLIANCE, THE MANUFACTURER SHALL CONFIRM WITH THE
EVALUATION ENGINEER OF RECORD THAT EVERYTHING SPECIFIED HERE—IN IS CURRENT
WITH ALL CURRENT TESTING, CODES AND APPLICABLE STANDARDS.

96" MAX. FRAME WIDTH STATED_ON THESE DRAWINGS.
e —~— 48" MAX. FRAME WIDTH —
5" MAX. —=| |— |d l{lil Ii — | 5" WAX. 5" MAX. ——| | — 5" MAX.
AvAvAvilvAvavd — Av4
r:'[“l‘—%‘: el F— 5" MAX. N == F— 57 MAX.
et / ' I \ N N 6” : \ d N 6”
; I L il o
J/ I AN i N U
l ' STOP ' STOP |
ye AN OPPOSITE > o AN OPPOSITE >
(B oy i . B =1% /I B =17
N AA BB T N s U ANTA (B N 38
5 o Y I N m o 5o | N g7z
i INACTIVE il ACTIVE D l
[an] ; [an]
W N / @—J Il N ST W ol AN q——e-
=% N { ek INIp Lock > 2 N =% plp]  LocK } 4 4
o = 4 o = 4
b . P ll U » L - DI K —r— ”
> N D 5/—@ 4———-——4 > N Py d——~:—~4
< = AN —ih HANDLE e < = 1 HANDLE /
= v \ : = w
8 i | ate A %8
I 38 3/8" =z Q | 37 3/47 = Q
N i MAX. D.L.O. §% [ MAX. D.L.O. §%
e i e
| N Wy S N e
D%’ ' I 4 | ) N l HINGE 4 | i
B AN i J/ fiq — o / \f&q 6
L — 5”7 MAX. ly — 5" MAX
A

FRAME ANCHOR REQUIREMENTS TABLE

FRAME SCREWS

o(s;%hgg%ggg FRAME TO OPENING FASTENER TYPE ME'E’E“B”,__PDM Eg‘gg‘“g&
MIN. 2X4 WOOD FRAME OR BUCK - -
(MIN. GR. 3 & G=0.55) NO. 12 SMS OR WOOD SCREW |1 1/4” | 7/8
MIN. 16 GA. 50 KSI METAL STUD|NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 172"
MIN. 1/8" THK A36 STEEL | NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2"
MIN. 0.100" THK 6063—T5 ALUM.|NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 172"
MIN. C—90 CMU () 1/4 CONCRETE SCREW 1 1/4 | 2 1/2°
| MIN. 3000 PSI CONCRETE () 1/4” CONCRETE SCREW 11/27 | 2 12

(1) CONCRETE SCREWS SHALL BE ELCO ULTRACONS (C.S.), ELCO CRETE—FLEX (S.S.), W

TANAADAA

INTERIOR ELEVATION;

SCALE: 1/2” = 1'=0”

DOUBLE RECTANGULAR DOOR

SPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY
AND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY
THEY BE USED FOR RATIONAL AND/OR {OCAL APPROVAL
OF ANY PRODUCT NOT PRODUCED BY THE MANUFACTURER

THESE DRAWINGS ARE APPLICABLE ONLY 7O THE PRODUCT"DRAWN BY:
W.W.S,

CHECKED BY:
WMW.S.

|PLOT:

1=24

DATE:
02/08/21

A\- FRAME SCREWS WHERE—/

SHOWN. SEE "FRAME

ANCHOR REQUIREMENTS
TABLE" ON THIS SHEET

FOR REQUIREMENTS.

ALLOWABLE DESIGN

PRESSURE
GLAZING | GLASS |ALLOWABLE
DETAIL | .OPTION | PRESSURE

(+/- PSF)

LARGE MISSILE IMPACT

(LM..) DOORS

1 1 90
1 2 90
1 3 90
1 4 70
1 5 70
2 6 70
SMALL MISSILE IMPACT
(S.M.L.) DOORS
3 7 90
3 8 90

SEE GLAZING DETAILS ON SHEET 3
FOR GLASS & GLAZING OPTIONS

RAMSET/RED HEAD TAPCONS (C.S: OR S.S.) OR HILTI KWIK—CON I (C.S OR S.S.).

q

INTERIOR ELEVATION;

SCALE: 1/2" = 1'-0"

SINGLE RECTANGULAR DOOR

DATE

BY

REVISION DESCRIPTION

NO.

——

JOB INFORMATION:

770-449-5555

555 GUTHRIDGE COURT
NORCROSS, GA 30092

KAWNEER COMPANY, INC.

2000T TERRACE SMALL & LARGE MISSLE IMPACT IN—SWING DOOR

NG, P.A. (REG. NO. F-14980)
7480 150TH COURT NORTH
PHONE: 561~744-3424

W. W. SCHAEFER ENGINEERING &
_PALM BEACH GARDENS, FL 33418

CONSULTANTS
?ONSULTI

DRAWING NO.

1679T

!

FEB 0 g,

WﬁﬁREN W. SCHAEFER, P.E.
" P.E. NO. 113497

rd

REV.

SHEET NO.
1

of 4




SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
"~ REQUIREMENTS TABLE

FRAME SCREW
PER ELEVATION

SUBSTRATE BY OTHERS

PER "FRAME ANCHOR
REQUIREMENTS TABLE

3

1/4" MAX.
— SHIM AT EACH
ANCHOR

1/4” MAX.
— SHIM AT EACH
ANCHOR
e . -
SEALANT BY
OTHERS
- EXTERIOR
¥
(28]
I
Lt
=
o SEE GLAZING
L.

SEALANT BY

TTIT

OTHERS

| 1/47 MAX.
SHIM OR GROUT

SUBSTRATE BY OTHERS

PER "FRAME ANCHOR
FRAME SCREW REQUIREMENTS TABLE”
PER ELEVATION

SECTION /AN
SCALE: 1/2 FULL \ 2/

'

28

FRAME HEIGHT

EXTERIOR

DRAWN BY:

CHECKED BY:

LA AN W.W.S.
PLOT: DATE:
1=2 02/08/21

DATE

[ BY

REVISION DESCRIPTION

NO.

FRAME SCREW
PER ELEVATION
SEALANT BY
OTHERS
: EXTERIOR

- FRAME SCREW—_’ - ] SEE GLAZING

SEALANT BY PER ELEVATION (26) DETAILS ON
OTHERS
SUBSTRATE BY—, <
OTHERS PER =
"FRAME
ANCHOR iy
REQUIREMENTS "

TABLE”
19
1/4” MAX. SHIM
AT EACH ANCHOR FRAME WIDTH
SECTION B
SCALE: 1/2 FULL \2/
(26) SEE GLAZING
EXTERIOR DETAILS ON

SEALANT BY

OTHERS

| 1/47 ax.
SHIM OR GROUT

FRAME SCREW
PER ELEVATION

SECTION

DU T 2 T
TP VI .
. P NG -
- a¥ 4y

SUBSTRATE BY OTHERS

-, ;
-7 4, £
PR
o S

PER "FRAME ANCHOR
REQUIREMENTS TABLE"

(A2

SCALE: 1/2 FULL \ 2/
(FOR DETAIL NOT SHOWN, SEE SECTION A1/2)

ML o

SHEET 3

SECTION

SCALE: 1/2 FULL

ITU

WIN

555 GUTHRIDGE COURT
770~449-5555

KAWNEER COMPANY, INC.
NORCROSS, GA 30092

JOB INFORMATION:

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744-3424

2000T TERRACE SMALL & LARGE MISSLE IMPACT IN—SWING DOOR

W. W. SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG. NO. F—14980)

CONSULTANTS

P.E. NO. 113497

/FEB 0 8 )
\RREN W. SCHAEFER, P.E.

2




SEALANT BY
OTHERS
EXTERIOR
FRAME SCREW—_ " -1 SEE GLAZING

PER ELEVATION

_ ® gETEAéstN

T /

SUBSTRATE BY— ¢
OTHERS PER
"FRAME N
ANCHOR oy
REQUIREMENTS
1/4” MAX. SHIM _| oD
AT EACH ANCHOR FRAME WIDTH
SECTION /3N
SCALE: 1/2 FULL \3/
TREMCO SEE GLASS
PROGLAZE OPTIONS BELOW
SSG
A
@)% D
5/8" MIN. BITE S

1

ey é}

\

GLAZING DETAIL 1
L.M.I._ GLASS OPTIONS 1-5

GLASS OPTION 1: 1” LAMINATED LG. (3/16"
H.S./0.075” EASTMAN CHEM. CO. SAFLEX
STORM/3/16” H.S. INTERIOR; 3/8” SPACER; 3/16”
TEMPERED EXTERIOR)

GLASS OPTION 2: 1% LAMINATED LG. (3/16”
H.S./0.090" KURARAY SG/3/16” H.S. INTERIOR;
3/8" SPACER; 3/16” TEMPERED EXTERIOR)

GLASS OPTION 3: 1” LAMINATED L.G. (3/16”
H.S./0.100" EASTMAN CHEM. CO. SAFLEX HP/3/16”
H.S. INTERIOR; 3/8" SPACER; 3/16” TEMPERED
EXTERIOR)

GLASS OPTION 4: 1” LAMINATED 1.G. (3/16”
H.S./0.090” KURARAY BUTACITE PVB/3/16” H.S.
INTERIOR; 3/8” SPACER; 3/16” TEMPERED EXTERIOR)
GLASS OPTION 5: 1” LAMINATED 1.G. (3/16"
H.S./0.090" EASTMAN CHEM. CO. SAFLEX/3/16" H.S.

INTERIOR; 3/8" SPACER; 3/16” TEMPERED EXTERIOR)

N

SEE GLASS

5/8” MIN. BITE

} k

OPTION BELOW

EXTERIOR

o

GLAZING DETAIL 2
(L.M.l. GLASS OPTION 6)

GLASS OPTION 6: 1" LAMINATED 1.G. (3/16”"

H.S./0.090" KURARAY SG/3/16” H.S. INTERIOR;
3/8" SPACER; 3/16" TEMPERED EXTERIOR)

L.M.1.
SMIL =

LARGE MISSILE IMPACT
SMALL MISSILE IMPACT

SEALANT BY
OTHERS

™~
Eg N\ Frav scREw pER

ELEVATIONS & "FRAME
ANCHOR REQUIREMENTS
TABLE”

{EXTERIOR]

OPTIONAL DIRECT MOUNT DETAIL

TO SUBSTRATE WITH SPACER
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME)
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS)

WW.S. W.W.S.

CHECKED BY: )

I-D'RAWN BY:
PLOT: DATE:

1=2 02,

08/21

DATE

SEE GLASS
OPTIONS BELOW
JdDP\\\ ?
5/8" MIN. BITE |[ |

|

G

GLAZING DETAIL 3
(S.M.l._GLASS OPTIONS 7 & 8)

GLASS OPTION 7: 1" LAMINATED LG. (3/16"

H.S./0.060" KURARAY BUTACITE PVB/3/16" H.S.
INTERIOR; 3/8" SPACER; 3/16" TEMPERED EXTERIOR)
GLASS OPTION 8: 1" LAMINATED I.G. (3/16”

H.S./0.060" EASTMAN CHEM. CO. SAFLEX/3/16” H.S.
INTERIOR; 3/8” SPACER; 3/16” TEMPERED EXTERIOR)

BY

REVISION DESCRIPTION

NO.

—
———

i

ITL

2000T TERRACE SMALL & LARGE MISSLE IMPACT IN—SWING DOOR

555 GUTHRIDGE COURT

KAWNEER COMPANY, INC.
NORCROSS, GA 30092

JOB INFORMATION:

W. W. SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG. NO. F—14980)

CONSULTANTS

770-449-5555

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744-3424

EN W. SCHAEFER, P.E.

P.E. NO. 113497

RAWING NO

1679T

SHEET NO.

3 oF




= . DRAWN BY: |CHECKED BY: ||
ITEM DESCRIPTION MANUFACTURER /NOTES 2 950 ~ 147 | i i “
PARTS o ] 1=2 02/08/21
FRAME 6063—-T6 ALUMINUM 0.094 — 0.125 »]R 0.781 ! i
STILE & RAIL 606316 ALUMINUM T g |
THRESHOLD COVER 6063—T6 ALUMINUM (3) THRESHOLD COVER
RISER BLOCK (DOOR) NYLON/3 PER DOOR PANEL =
RISER BLOCK (FRAME) NYLON/3 PER DOOR PANEL | - 0.896
ASTRAGAL 6063—T6 ALUMINUM 4.406 0.647 {l g
MALE GLAZING BEAD (WET GLAZED CONDITION) 6063—~T6 ALUMINUM v 3
FEMALE GLAZING BEAD (WET GLAZED CONDITION) 6063—T6 ALUMINUM LENGTH = 1.250” 4
GLAZING BEAD (DRY GLAZED CONDITION) 6063—T6 ALUMINUM @ RISER BLOCK (DOOR) z
CORNER KEY (FRAME) CAST ALUMINUM 0.205 2
CORNER KEY (FRAME) CAST_ALUMINUM 0.677 —L-—J[___:] KB g
CORNER KEY (DOOR) 6105—-T5 ALUMINUM “2
. HARDWARE _ _ ‘ A LENGTH = 1.250"
LIMIT_STOP ADVANTAGE MFG. #628 0188 | L 3016 (5) RISER_BLOCK (FRAME) ”
HINGE ADVANTAGE MFG. #1113HCA 6061-T6 ALUMINUM ' J__}——»}—— 0.675 0.679 &
5 POINT MULTI=POINT LOCK SYSTEM HOPPE HLS 7000 ' R 2| Sey
2 POINT MULTI-POINT LOCK SYSTEM ' HOPPE HLS 7000 5.088 0.729 W uojg;s ol 5328,
SHOOTBOLT SLEEVE ADVANTAGE MFG. #7723 T} 0.050 t =) z| 2278
SWINGHOOK _STRIKE ADVANTAGE MFG. #1130 s 0.050 4 f hl 25
LATCH,/DEADBOLT STRIKE ADVANTAGE MFG. #1131 | M&E—MND—%EAQ " FEMALE GLAZING BEAD 11 82°¢2
HANDLE AS REQUIRED TO OPERATE LOCK SYSTEM T (WET GLAZED CONDTION) | | =E3J
SEALS & SEALANTS 1.397 1839 — ? gUoaER
BULB GASKET RENKO #R2008B EPDM (DUROMETER = 80 +/-5) < 288
INTERIOR GLAZING WEDGE GASKET TREMCO #TR-3234~E EPDM _(DUROMETER = 70 +/-5) - = e=
EXTERIOR GLAZING GASKET EPG #6508-00—-00 EPDM (DUROMETER = 80 +/-5) A I
SETTING BLOCK TRELLEBORG EPDM 2
DRIVE-IN WEDGE GASKET TREMCO #TR—336W SCR—900 SILICONE RUBBER 2.559 - =
DEBRIDGING/THERMAL BREAK TECATHERM—66—GF 0.741 < ng
DEBRIDGING/THERMAL BREAK TECATHERM—66—GF ) <| O«
FASTENERS 0'070‘@ 0.865 ——lf W 3| 20 .
NO. 10 X 3/4" PHTF SCREW 300 S.S. WITHIN 6" FROM CORNERS & 12" MAX. O.C. . 0.760 S P
NO. 10-24 X 3/4” FHMS 300 S.S. 4 PER_LIMIT_STOP INTO FRAME (10) GLAZING BEAD ' 2| 2287
NO. 10 X 1 5/8” FHTF SCREW 300 S.S. 4 PER LIMIT_STOP_INTO_DOOR {DRY GLAZED (17) CORNER KEY (FRAME) 5| 26 oud
NO. 10 X 1 5/8” FHTF SCREW 300 S.S. 1_PER RISER BLOCK CONDITION) w | Y& 383
NO. 10 X 1/2” FHTF SCREW 300 S.S. 1 PER RISER BLOCK 2.559 — 1134 [— . 3.875 — =  — 1.275 |— % ﬁ:;gé
NO. 12-24 X 3/4 PHMS 300 S.S. 3 PER_HINGE INTO FRAME e | Yo B3y
NO. 10 X 3/4 PHTF SCREW 300 S.S. 3 PER HINGE INTO DOOR = / Fl 5,858
NO. 10 X 2" PHTF_SCREW 300 S.S. WITHIN 5" FROM ENDS & 12” MAX. O.C. 51,7273
NO. 10 X 1/2” FHTF SCREW 300 S.S. 1_PER"SHOOTBOLT SLEEVE - ) FS 253
NO. 10 X _1/2” FHTF_SCREW 300 S.S. 2 PER_SWINGHOOK STRIKE » 2.559 N5x0
” NO. 10 X 1/2" FHTF SCREW 300 S.S. 3 PER LATCH/DEADBOLT STRIKE 3863 —| & 8
NO. 8 X 1/2” PHTF_SCREW 300 S.S. WITHIN 3" FROM CORNERS & 9” MAX. O.C.
0.267
0.185 0.439 S
I —{ }— 0.575 | |
0.327 —“L——M 0.639 | (13) CORNER KEY (DOOR)
} 0.179 3 f
EXTERIOR GLAZING @ ERaE/sasH  (33) TR, S
“>SHEET NO.
4 o 4




